
1/5 

Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER – 1/2• EXAMINATION – SUMMER- 2016 

 

Subject Code: 3320102 Date:06-06- 2016      

Subject Name: Advance Engineering Drawing 

Time: 10:30 am - 01:00 pm 

 Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 

 

Q.1  Answer any seven out of ten. દળભ ાંથી કોઇ઩ણ સ તન  જલ ફ આ઩ો. 14 

 1. State the types of solids.  

 ૧. સોરીડ ન  પ્રક યો જણ લો.  

 2. Draw symbols for first angle projection method and third angle projection 

method. 

 

 ૨. પ્રથભ કોણીમ અને ત્રિકોણીમ પ્રકે્ષ઩ણ ઩દ્ધત્રતની ત્રસમ્ફોરની સ્લચ્છ આકૃત્રત 
દોયો. 

 

 3. Draw sketch of snap head rivet.  

 ૩. સ્ને઩ હડે યીલેટની આકૃત્રત દોયો.  

 4. Draw sketch of acme thread.  

 ૪. એકભે થે્રડની આકૃત્રત દોયો  દોયો.  

 5. Draw sketch of Right hand threads   

 ૫. જભણ   હ થન  આંટ ની  આકૃત્રત દોયો.  

 6. What is true shape of section in section of solids?  

 ૬. સેક્સન ઓપ સોરીડ ભ ાં છેદ નો ખયો આક ય એટરે શ ાં?  

 7. Draw sketch of Double start threads  

 ૭. ડફર સ્ટ ટટ  આંટ ની આકૃત્રત દોયો.  

 8. Define section of solids.  

 ૮. સેક્સન ઓપ સોરીડની  વ્મ ખ્મ  આ઩ો.  

 9. Define development of surface  

 ૯. સ઩ ટી ત્રલસ્ત યની વ્મ ખ્મ  આ઩ો.  

 10. Draw sketch of snap Wood ruff key.  

 ૧૦. વ ડ યપ કી ની આકૃત્રત દોયો.  

    
Q.2 (a) A cylinder 40 mm diameter and 60 mm axis is resting on one point of a base 

circle on VP while its axis makes 45O with VP and FV of the axis 35O with 

HP. Draw projections. 

07 

પ્રશ્ન. ર (અ) એક ન઱ ક ય કે જેન  ઩ મ નો વ્મ સ 40 mm અને ધયીની રાંફ ઈ 60 mm  છે. 
આ ન઱ ક ય તેન  ઩ મ  ઩ય  V.P. ઩ડેરો છે જમ યે  V.P. સ થે 45

o
  નો ખણૂો 

૦૭ 
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ફન લે છે અને H.P. સ થે 35
o 
 નો ખણૂો ફન લે છે. પ્રક્ષે઩ો દોયો. 

  OR  

 (a) A tetrahedron of 50 mm long edges is resting on one edge on HP while one 

triangular face containing this edge is vertical and 45
0 

inclined to VP. Draw 

projections. 

07 

 (અ) 50 mm ફ જ લ ઱ો એક ટેટ્ર  હડે્રોન તેન  ઩ મ ની એક ફ જ  ઩ય H.P. ઩ય એલી 
યીતે ઩ડેરો છે કે જેથી તે ફ જ ભ ાંથી ઩સ ય થતી તેની પેસ H.P. ને રાંફ છે 
અને V.P. સ થે 45

o
 નો ખણૂો ફન લે છે. પ્રક્ષે઩ો દોયો. 

૦૭ 

 (b) A hexagonal prism of 30 mm side of base and 70 mm height, resting on the 

H.P. such that the axis is inclined at 30
0
 to the H.P. and 60

0
 to the V.P. Draw 

its projections. Keep the top end of the prism near to the V.P 

07 

 (ફ) 30 mm ફ જ લ ઱ો અને 70 mm ઉચ ઇ લ ઱ો એક hexagon પ્રીઝભ H.P. ઉ઩ય 
઩ડેરો છે.પ્રીઝભ H.P. સ થે 30

o
 ખણૂો ફન લે છે અને V.P.  સ થે 60

o
 નો ખણૂો 

ફન લે છે. પ્રીઝભ નો ઉ઩યનો બ ગ V.P.   ને નજીક ય ખો.પ્રક્ષે઩ો દોયો. 

૦૭ 

    
Q.3 (a) A pentagonal pyramid, side of base 40 mm and height 80 mm is resting on 

H.P. on its base with one of the edges of the base away from V.P. is parallel 

to V.P. It is cut by an A.I.P. which is inclined at 60
o
 degree with H.P. and 

passing 20 mm below the apex. Draw its elevation, sectional plan and true 

shape of section. 

07 

પ્રશ્ન. 3 (અ) એક ઩ેન્ટ ગોન ઩ીય ભીડ જેની ફ જ  40 mm અને ઉંચ ઈ 80 mm છે અને તે 
H.P.  ઉ઩ય ઉબો છે. જેની એક એજ V.P. થી દ ય છે અને V.P.  ને સભ ાંતય છે . 
કટટિંગ પ્રેન કે જે ઩ીય ભીડ ને કટ કયે છે તે H.P. સ થે 60

o
 નો ખણૂો ફન લે છે 

અને એ઩ેક્ષથી 20 mm નીચે થી ઩સ ય થ મ છે.સ ભેનો દેખ લ સેક્સન પ્ર ન 
અને ખયો દેખ લ દોયો.    

૦૭ 

  OR  

 (a) A pentagonal prism of 30 mm base and 65 mm height is standing on one of 

its base on the H.P. Such that its axis makes an angle of 60
o
 with the H.P. and 

parallel to V.P. A section plane is cutting this prism which makes an angle of 

60o with the H.P. This cutting plane is perpendicular to V.P. and passing 

through the top most corner. Draw sectional plan and true shape of the section 

of prism.   

07 

 (અ) એક ઩ેન્ટ ગોન પ્રીઝભ જેની ફ જ  30 mm અને ઉંચ ઈ 60 mm છે અને તે H.P.  

ઉ઩ય ઉબો છે.તે H.P.સ થે 60o નો ખણૂો ફન લે છે અને V.P. ને સભ ાંતય 
છે.સેક્સન પ્રેન કે જે પ્રીઝભ ને કટ કયે છે તે H.P. સ થે 60

o
 નો ખણૂો ફન લે 

છે. આ કટટિંગ પ્રેન V.P. ને રાંફ છે અને સૌથી ઉ઩ય ન  કોનેય ભ ાંથી ઩સ ય 
થ મ છે.સેક્સન પ્ર ન દોયો અને પ્રીઝભ નો ખયો દેખ લ દોયો..    

૦૭ 

 (b) A cylinder of 60 mm Diameter and axis is 80 mm long is standing on its base 

on the H.P. It is cut by sectional plane which makes an angle of 45
o
 to H.P. 

and passing through a point on the axis 25 mm below to the top base. Draw a 

front view, sectional top view and true shape of the section. 

07 

 (ફ) એક ન઱ ક ય કે જેન  ઩ મ નો વ્મ સ 60 mm અને તેની ઉચ ઇ 80 mm  છે અને 
તે H.P. ઉ઩ય ઩ડેરો છે.સેક્સન પ્રેન  કે જે ન઱ ક ય ને કટ કયે છે તે H.P. 

સ થે 45
o
 નો ખણૂો ફન લે છે અને ન઱ ક ય ન  ઉ઩યન  ફેઝ થી  25 mm નીચે 

૦૭ 
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થી ઩સ ય થ મ છે.સ ભેનો દેખ લ સેક્સન પ્ર ન અને ખયો દેખ લ દોયો. 
  OR  

 (b) A Square pyramid having 40 mm base side and 60 mm height is standing on 

its base on H.P. such that its base sides make an equal angles H.P. and 

perpendicular to V.P. is cutting this pyramid by passing through midpoint of 

the axis of this pyramid. Draw the front view, sectional top view and true 

shape of the section. 

07 

 (ફ) એક ચોયસ ઩ીય ભીડ જેની ફ જ  40 mm અને ઉંચ ઈ 60 mm છે અને તે H.P.  

ઉ઩ય ઉબો છે.જેની ફેઝ સ ઈડ H.P. સ થે સયખો ખણૂો ફન લે છે અને V.P. ને 
રાંફ છે. કટટિંગ પ્રેન કે જે ઩ીય ભીડ ને કટ કયે છે તે ઩ીય ભીડ ન  એક્ષક્ષસ ન  
ભધ્મક્ષફિંદ  ભ ાંથી ઩સ ય થ મ છે.સ ભેનો દેખ લ સેક્સન પ્ર ન અને ખયો દેખ લ 
દોયો. 

૦૭ 

    
Q.4 (a) A Square prism having a 40 mm base sides and 80 mm height is standing on 

H.P. one its base. It is penetrated by a horizontal prism having 30 mm base 

sides and 80 mm height such that the axis of both the prism bisects one-

another, vertically faces of both the prism are vertically inclined with the V.P. 

and axis of both the prism are parallel to V.P. Draw the projection of these 

solids showing the lines of intersection in it. 

07 

પ્રશ્ન. ૪ (અ) એક ચોયસ પ્રીઝભ જેની ફ જ  40 mm અને ઉંચ ઈ 80 mm છે અને તે H.P.  

ઉ઩ય ઉબો છે.તેને ફીજો 30 mm ફ જ લ ઱ો અને 80 mm ઉચ ઇ લ ઱ો પ્રીઝભ 
છેદે છે.ફાંને પ્રીઝભની એક્ષક્ષસ એકફીજાને ભધ્મભ ાંથી ઩સ ય થ મ છે.ફાંને 
પ્રીઝભ ની એક્ષક્ષસ V.P. ને સભ ાંતય છે.આંતયછેદ નો લ઱ ાંક દળ ટલત  આ 
પ્રીઝભ ન  પ્રક્ષે઩ો દોયો. 

૦૭ 

  OR  

 (a) The two cylinders, one vertical and other horizontal has their base diameters 

50 mm and the axis length is 80 mm. They intersect right angles such that the 

axis of the two cylinders bisects one another at right angle. Using first angle 

projections showing line of intersections. 

07 

 (અ) ફે ન઱ ક ય, એક ઉબો અને એક આડો જેનો વ્મ સ 50 mm અને એક્ષક્ષસ ની 
ઉચ ઇ 80 mm છે.તે એલી  યીતે છેદે છે કે ફને્નની એક્ષક્ષસ એકફીજાને ક ટખણેૂ 
યહ ેછે.આંતયછેદ નો લ઱ ાંક દળ ટલત  આ ન઱ ક ય ન  પ્રકે્ષ઩ો દોયો. 

૦૭ 

 (b) Draw the development of part A of the hexagonal prism of 35 mm base side, 

shown in the Figure 1. 

07 

 (ફ) 35 mm ફ જ લ ઱  હકે્ષ ગોનર પ્રીઝભ આકૃત્રત “1” ભ  દળ ટલેર છે તેની “A 

“સ઩ ટી નો ત્રલસ્ત ય દોયો. 
૦૭ 

  OR  

 (b) Figure 2 shows the development of surfaces on the object. Draw plan and 

elevation of the object and show line AB on it. 

07 

 (ફ) આકૃત્રત “2” ભ  ઩દ થટનો સ઩ ટી નો ત્રલસ્ત ય દળ ટલેર છે. આ ઩દ થટનો ઉ઩યનો 
દેખ લ અને સ ભેનો દેખ લ દોયો અને AB ર ઈન તેન  ઉ઩ય દળ ટલો. 

૦૭ 

    
Q.5 (a) Draw following views of figure- 3 using “First Angle Projection Method.” 

(1) Front View 

(2) RHSV View 

07 
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(3) Top View 

પ્રશ્ન. ૫ (અ) આકૃત્રત “3” ભ ટે પ્રથભ કોણીમ પ્રકે્ષ઩ણ ઩ધ્ધ્ધતથી નીચેન  દેખ લ દોયો.  
(1) સ ભેનો દેખ લ  
(2) જભણી ફ જ નો દેખ લ  
(3) ઉ઩યનો દેખ લ 

૦૭ 

  OR  
 (a) Two views of an object is given in the figure 4. Using given projection 

method draw the following views. 

(1) Given front View 

(2) Given side View 

(3) Top view 

07 

 (અ) આકૃત્રત “4” ભ ટે પ્રથભ કોણીમ પ્રકે્ષ઩ણ ઩ધ્ધ્ધતથી નીચેન  દેખ લ દોયો.  
(૧) આ઩ેર સ ભેનો દેખ લ 

(૨) આ઩ેર જભણી ફ જ નો દેખ લ 

(૩) ઉ઩યનો દેખ લ 

૦૭ 

 (b) Figure 5 shows the isometric view of a machine component. Draw the 

sectional view from the front, the view from above and the view from the left. 

07 

 (ફ) આકૃત્રત “5” ભ ાં ભળીન નો  કમ્઩ોનેન્ટ દળ ટલેર છે. તેન   ભ ટે દેખ લ દોયો. 
સ ભેનો સેકસન દેખ લ, ઉ઩યનો દેખ લ અને ડ ફી ફ જ નો સેકસન દેખ લ. 

૦૭ 

  OR  
 (b) Two views of an object is given in the figure 6. Using given projection 

method draw the following views. 

(1) Given Top View 

(2) Given front View 

(3) Bottom view 

07 

 (ફ) આકૃત્રત “6” ભ ટે પ્રથભ કોણીમ પ્રકે્ષ઩ણ ઩ધ્ધ્ધતથી નીચેન  દેખ લ દોયો.  
(૧) આ઩ેર ઉ઩યનો દેખ લ 

(૨) આ઩ેર સ ભેનો દેખ લ  
(૩) નીચેનો દેખ લ 

૦૭ 
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